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FiTal :

. (10%) Let o € R and define the sequence aj,ag,... iu I by a; = a, and

an = a2 | ~an.1+1if n> 1. For what a € R is the sequence {a, } convergent
? Compute the fimit in the cases of convergence.

(10%) Let F(z) = [} & 1+t dt, and f(z) = F(z% + z). Find f'().

(15%) Find the set of all © for which the given series converges.
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(15%) Find maximum and minimum points and values for f(x) = —3z° -+ 5z°
on [-1.2,1.2].

(15%) Find each integral.

(a) fjl V6 + |z|dz
(b) fol eVadz
(e [fp e +v*) dzdy, where D = {(z,y)[z? + y* < 1}.

. (15%) Find the local maxima and minima for f(z,y) = (22 + 3y2)el==" -v",

. (20%) The production function for a company is

f(.T, y) — 100w0.25y0.75

where 2 is the number of units of labor and y is the number of units of capital.
Suppose that labor costs $48 per unit and capital costs $36 per unit. The total
cost, of labor and capital is limited to $100,000.

(a) Find the maximum production level for this manufacturer.

(b) Find the marginal productivity of money.
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